Discontinuita eliminabili
Periodo 3 - UdA 4

Rappresentare graficamente le seguenti funzioni

1] f@) =52 g f(a) = EHes
3] flo) =2 4 fla) =50
5 fla) =t g () = 2t

1 fla) = 8 @)= =L



SOLUZIONI

Discontinuita eliminabili  Periodo 3 - UdA 4
f(=2)=0 lim f(x)=400 f(0)=2 lim f(z)=1

r——1+F T—00

lim f(x)=Z2occ lim f(z)=0 f(0)=1 Ilim f(z)=2

r——2TF r——1 T—00

f(=2)=0 lm f(z) =0 lim fz) =00 lim f(z)=-oo
F(2) =0 lim fle)=ko0 i fr) =k Jin f@)=0
lm f(x)=0 f(0)=0 lim f()==%00 lim f(z)=+oc

lim f(r) =400 lim f(z)=+o0 1i£>r:1))f(a:)=0 lim f(z)=0

r——3T r—0F T—00

lim f(x) =+o0 hg%) flx)=0 lim f(x)=+o00

lim f(x) = —oco lim f(x) =400 lim f(x)=0

x—0 r—92* T—00



